Combined Higher Secondary Level (10+2) Examination-2018

[Roll No.

|Registration No.

Name

Test Venue Examit Infotech Pvt Ltd
Test Time 4:00 PM - 5:00 PM
Test Date 11/07/2019

Section : General Intelligence

Q.1 If¥ 10 7daR 2018 =} AFRGR UT, &t 15 AT 2017 Y AT Al hi-T7 27 a41?

Ans X 1. R
o 2. sEEr
/X 3. R
/X 4. HHar

Question ID : 98958018014
Status : Answered
Chosen Option : 2

Q.2 I HEA-ZH 1 99 & [ g1 Head I are @ Hafda & o o Frafaif@a dear-gm i
2t ke wif &1

20:30

Ans X' 1.16:36
X 2.6:14
/< 3.12:23
of 4.30:42

Question ID : 98958018016
Status : Answered
Chosen Option : 4

Q.3 U 9T I I & Orad SETg I avE @ Hafda & o R Fefafe@a ageaa & 9@
Tefda gl

(10, 32, 54)
Ans X" 1.(25,47,77)
/5 2.(16,37, 56)
/X 3.(15,49,37)
o 4.(3557,79)

Question ID : 98958018017
Status : Answered
Chosen Option : 4

Q4




A & 75 HTpia H a9 Hisg 87

O O
0

il 0
Ans X123
X2 21
X317

V19

Question ID : 98958018023
Status : Answered
Chosen Option : 4

Q.5 ‘Dice’is related to ‘Cube’ in the same way as ‘Ball’ is related to * .
Ans J 1. Sphere

X 2. Cone
/< 3. Line
75 4.cube

Question ID : 98958018007
Status : Answered
Chosen Option : 1

Q.6 wF wEeT W AFE wE A S ¢S B A & o ampty (X, Y 3l 2) & Regmnm e ¥ 5w
freres @ T S geieT ¥ B W Fee & R g@ew ) e S R

T v
H i

P s
R EYE
o e
BREE
“lo e
[ee
e 0




SRS
SAS

Question ID : 98958018025
Status : Answered
Chosen Option : 4

Q.7 U HHTIY hI I e Orad SETg I v @ Hafda § o R Pefafl@a agema fi 9@

Ans

Gefd g1

(35, 48, 83)
75 1.(24,49,75)
75 2.(25,49,971)
o 3.(15,24,39)
/X 4.(15,25,41)

Question ID : 98958018018

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q8 33 3eR AT B I T AT & T TACA AFT T F AR T

Ans

6 | 1R | %
x| B
X2 (_:):_
X3 e.""
| %

Question ID : 98958018022
Status : Answered
Chosen Option : 4

Q.9




37 RweT @1 g B & 715wl (X) AR & ey # gEe fr sty 7 )

Ans

B
o=
< |8

Question ID : 98958018024
Status : Answered
Chosen Option : 4

Q10 fy zdor 3 sy ¥ af 3R @ S ¥ @ & ey B wh oo o

Ans




Question ID : 98958018026
Status : Answered
Chosen Option: 3

Q.11 ek hte uToT &, THRUST &t UJUYXZ ot Sirar @1 3§ »rar & WOOD &kt @ forar simgm?
Ans X" 1 XORH

/X 2.XQRI
75 3.XQsH
o 4 XQrRH

Question ID : 98958018004
Status : Answered
Chosen Option : 4

Q.12 g™ far &1 wig &1 \ifgt srger i A &1 Rar w9 ft 38 @1 srgs1 2am & uid g1 AR o
M | T Heiy &7

Ans  of 1 o
75 2. @
X 3.9E
X 43

Question ID : 98958018009
Status : Answered
Chosen Option: 1

Q.13 fA=fafaa ar gl & @ fiF = v RAfYa adie @ g 9 & iR Tk e @1 39 31T 2U<S; &l
g
Ans X1z
X 2. wrw
X 3.9mg
o 2 s

Question ID : 98958018012
Status : Answered
Chosen Option : 4

Q.14 fF=fafa@e sjaer # w=-t e vs Rg (?) & T o engfi?
2,3,8,31,?
Ans X" 195
X 2.134
/X 3.105
of 4154




Question ID : 98958018019
Status : Answered
Chosen Option : 4

Q.15 it ersgepier qufsha & gER FafaifRe ereal ol afeaa &2 |

1. Chairman
2. Challan

3. Chaos

4. Champion
5. Changing

Ans X" 1.1,2,3,4,5
W 212453
X 31,4235
/X 4.1,34,2,5

Question ID : 98958018003
Status : Answered
Chosen Option : 1

Q.16 fAfafEa afiero &t @@ TF & fag 399 5 3t Rgl w) gw-gar @ g ghm?
10+18-20x100+5=27
Ans x 1. x 3R -
X 2.+ 3iR-
J 3. xR+
K 4 +aiR+

Question ID : 98958018015
Status : Answered
Chosen Option : 3

Q.17 F=fafE@a sjaen # FiF-91 2Mes-gm sl =g (?) & T W) mem?
KH,?,QN, WT, EB
Ans X 1IN
X 2.NJ
W 3 M
X 4. MK

Question ID : 98958018008
Status : Answered
Chosen Option : 3

Q.18 F=ifaf@d ar sier-wggl A & = s1eR-wg e Affa a8 9 o 99 & ok o sremT 8139
ST S1&R-HHE &l g
Ans X" 1 NRV
75 2.PTX
75 3.DHL

o 4 Fkm

[ Question ID : 98958018011




Status : Answered
Chosen Option : 4

Q19 37 37 MW & =99 F S DAl = F o7 F dEg F gEY q=oT e B

FehTel, ATEGHN, HIT
Ans

v

O

o

O~

Question ID : 98958018027
Status : Answered
Chosen Option: 1

Q.20 39 faehed @l g Sit fi R s1aR-gr & It are Hafda § S govT S18R-J Ugd MHER-giH &
Teifdd g1

GP:TK::DR?
Ans X 1. WX

X 2w
W 3w
X 4w

Question ID : 98958018010
Status : Answered
Chosen Option : 3

Q21 o g arr 1 & sreErarenT Rufel # A gwfEr T 1 5@ e oY S fE S & @ A

FeAs T EEI
A\Y Y>
_J3¥ [q]e
Ans xl ﬁ

X2 N




Question ID : 98958018021
Status : Answered
Chosen Option : 4

Q.22 fA=fafEd ar st # @ fiq dw=] ves fAffa adtd @ g A & ik gas d=ar e 81 a8

T g St o | ST | |

Ans X" 17815
o 28915

/X 3.6915
/X 4.8715

Question ID : 98958018020
Status : Answered
Chosen Option: 2

Q.23 Tfe WIND <kt 414923 ®U # shlSag fohar STrar @ 3fik CARDS &t 1941813 ¥ H shlsdg faran

SITdT & Y ORIENT <Rl & shlSaIsg, foham sraem?

Ans X" 12014581815
#< 2.1518951420
/X 3.2013591815

o 42014591815

Question ID : 98958018005
Status : Answered
Chosen Option : 4

Q.24 39 e o1 7o R St AR S1eR-gvH | I avE Halda § S TERT HER-gT Uge HER-giH

T Gafdd 21
FU:UF::RS:?

Ans X" 1 GH

o 2 H

X3P

/X 4. 0H

Question ID : 98958018006
Status : Answered
Chosen Option: 2

Q.25 i = Ry g §, 393 are = fsed |, 1 oik 11 Ry g &1 Fuel vt s wed g, v gt a
AT @R IR AT 9241 @ 31T g, ag Avfa ifSig fak sia-a1/a fAsewd su=it o arfdhes u @

SEROT Tl &/h3d 8

CoUE N

Tt =1 Fewrleat 81

it gregTfeal aear &

gt enf¥at aerar &1
forser:




I Ioft aear a1 &)

Il. & aeaR Fearisal al
lll. B a@ar At gl

Ans X 1. goft oy ergER R €
7 2. e e | SERoT aRa 21
o 3. e P 11 ok 111 srgaRo A &)
7K 4. ae e | 3R 11 SERT aR4 &1

Question ID : 98958018013
Status : Answered
Chosen Option : 3

Section : General Awareness

Q.1 ¥R dfeh vomeft & wgof &, RTGS @1 gof $u a=m 82

Ans X 1. Yo ergH Uid eeriie
X 2. Reaet ergw i Qe
W 3. R erem vt deeie
X 4.8 orgm i deeie

Question ID : 98958017956
Status : Answered
Chosen Option : 2

Q.2 f=fafda 4 & wl-ar aafts YRedta Rerd de 1 R =& ar?

Ans X" 1 weiE Rig
Jz.\mwfﬁa
/X 3. v RRw
K 4.3 garE

Question ID : 98958017955
Status : Not Answered
Chosen Option : --

Q.3 An example of an input device is
Ans X" 1. Headphones

x 2. Projector
x 3. Soundcard

J 4. Webcam

Question ID : 98958017960
Status : Answered
Chosen Option : 4

Q.4 A biochemical compound is any:

Ans x 1. mineral-based compound found in living things
x 2. sulfur-based compound found in living things
J 3. carbon-based compound found in living things

x 4. hydrogen-based compound found in living things




Question ID : 98958017958
Status : Answered
Chosen Option : 3

Q.5 #E2019 #, Afafthes = gt ervara ____ # srrifia fvam war ami

Ans

25 1. s
X 2.4
< 3. sirfer
o 4 e

Question ID : 98958017975
Status : Answered
Chosen Option : 1

Q.6 fF=fafaa | & et Ffedt @fta & fog @i ofag 82

Ans

o 1. s

X 2. iR R 2wt
75 3. ufed R ed
/X 4. dfea Aasiar

Question ID : 98958017968
Status : Answered
Chosen Option : 1

Q.7 f=faf@a d & Fi9-a1 g urpfae fiw-gew 49 781 82

Ans

75 1. Srerarsy

75 2. e SrgsiiaTES
75 3.9

4. g

Question ID : 98958017959

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.8 uge 3 fay & fordhe gafde Sfiam areft & sri=-+t <f?

Ans

X1 aRa
Vv 2 e
X 3. sirefer
X 4.5

Question ID : 98958017972
Status : Answered
Chosen Option : 2

Q.9 & pupd-et (right pulmonary artery) gieft 81

Ans

W 1. & gem A et
X 2 e R g A A




/< 3. aEasd
75 4.9 & SR & A

Question ID : 98958017957
Status : Marked For Review
Chosen Option : 2

Q.10 =T g srgHy eI _____ A fRE @1
Ans x 1. ARTR

/X 2. wrereTn

o 3. Ren

X 4. ez

Question ID : 98958017963
Status : Answered
Chosen Option : 3

Q.11 2018 BWF ae< R WIgd # Yu| & Gehed ol fohereh ZRT St mam um?
Ans X" 1wl gt

X 2. 3 s
o 3 had
X 4. @FaEeg

Question ID : 98958017973
Status : Answered
Chosen Option : 2

Q.12 fF=fafEa d & ea-a1 wRdia gia 89 8t - =R aafRd ma & “nT &4 arer 8?
Ans x1_a1—§qqqq§m

o 2. srégE g

X3.\m‘£qmwﬁ'cﬁim

/X 4. g feid

Question ID : 98958017977
Status : Answered
Chosen Option : 1

Q.13 Tidieter urdl, fAd WRa A gga it (A HfFae oife §3an) i sgremang, A fR@ @

Ans X1 awel
X 2. Ffeen
7 3. ufdm s
o 4. iy R

Question ID : 98958017964
Status : Answered
Chosen Option: 2

Q.14 The term 'Hellenistic' is related to which of the following countries?
Ans




/X 1.India
75 2. China
( 3. Greece
/X 4. Peru

Question ID : 98958017953
Status : Answered
Chosen Option : 3

Q.15 F=faf@a # 9, WRa o1 uia 759 R Fi9-91 82
Ans X" 1. e e

X 2. Frmaw

/X 3. mER

o 4 wru S ik v

Question ID : 98958017971
Status : Answered
Chosen Option: 2

Q.16 3wR wden # F=faf@a 7 @ wa-w1 wdta Iem= ffa 82
Ans X" 1z

o 2.z

/X 3.3

X 4. TR

Question ID : 98958017962
Status : Answered
Chosen Option: 2

Q.17 e g, g@ea ik ISE ol e wid & 7 ofi?
Ans  of 1 237, 1931

/X 2. 23 wad, 1930
/X 3.28 5ad, 1933
/X 4.23 31, 1932

Question ID : 98958017967
Status : Answered
Chosen Option : 1

Q.18 Fa=IT 3R Mentfreht & s==af d, ASCII o1 quf T sifsh & o &2

Ans X" 1. R RUed dRgfighe th SRIARM gezasT (American Standard Communication

for Information Interchange)

o 2. sifRa Rusd T R Rt $exde (American Standard Code for Information

Interchange)

x 3. 3ARET RusE s Bk $ThREaR 3exasT (American Standard Code for Infrastructure

Interchange)

/X 4. 3R R Hie R dezaee ezaial (American Standard Code for International

Interchange)




Question ID : 98958017961
Status : Answered
Chosen Option : 2

Q.19 fRsaR i ur=hi= Tsrurh, gt gl = fFaa &2
Ans le

W 2w

/X 3. astr

/X 4. dftrerrg

Question ID : 98958017966
Status : Answered
Chosen Option: 2

Q.20 Ul ‘inforar Afer’ YR & fora I5g @ Tdfda 82
Ans X1 gwmrds

/X 2. e

o 3. orE

75 4. FRm

Question ID : 98958017954
Status : Answered
Chosen Option : 1

Q.21 wRaF Ry A ____ & smuifSia wiereaw uis e 2019 & afgemed Y 1500 Hex Se &

Tuf uge ST
Ans X1 =g
X 2w
W 3 e
X 4. ZERREr

Question ID : 98958017974
Status : Answered
Chosen Option : 3

Q.22 An island between India and Sri Lanka is
Ans X" 1. Chorao

x 2. Divar

( 3. Kachchatheevu

x 4. llha grand

Question ID : 98958017965
Status : Answered
Chosen Option: 1

Q.23 1989 # Rur€ 3R Ete1 MvesdA ZRT R fhaT M1 Meede REAR &= d Rr s @1

Ans Jlen?ﬂaw

X 2. R
X 3. R




X 4 @i

Question ID : 98958017976
Status : Answered
Chosen Option : 1

Q.24 A 2019 &, SieT ETeH, T R R 1 TRIGR SR GusTer a1 Tesdr HaTed &t fAemar
RIFT-TT HATTT ST 4T AUT?

Ans X" 1. et Sftem
/X 2. e dug
725 3w Al
of 4 @ afs

Question ID : 98958017970
Status : Answered
Chosen Option : 4

Q.25 1984 # fAER ¥ Sfia+ aret g AYet FepR Fi &7
Ans ( 1. ofrar 2t

25 2. 1R e 2t
75 3. wErged &
25 4 TR

Question ID : 98958017969
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1  The given Bar Graph presents the percentages of population in the age groups, X(above 50 years), Y(20 to 50 years),
Z(below 20 years) in five different villages, A, B, C, D and E with total population of 5000, 6000, 8000, 4500 and 6000

respectively.
60
50
50 a5 a5 =X
40 <0
R 35 35 mY
£ 0 30 .
% 25 5| 25 =
: ” 20 20
10
0
A B c D 3

Villages

The difference between the number of persons of ages below 20 years in villages D and E, taken together, is what
percentage of the number of persons of the same age group in village D?

Ans 182

< —
185
N
200
N

X2

v &)




19(]

Question ID : 98958018077
Status : Not Answered
Chosen Option : --

Q2 37z 37T $r TEAT 5x32465y, 88 T A= ¥ (2x + 3y) F AT FAT gEM?

Ans X118
X216
X3 20
v 24

Question ID : 98958018062
Status : Answered
Chosen Option : 4

Q.3  What is the ratio of the mean proportional between 14.4 and 3.6 and the third proportional of 5 and 4?7

Ans  X'1.4:9
X< 28:5
V3 0:4
K 45:8

Question ID : 98958018060
Status : Answered
Chosen Option: 3

Q.4 %mmmm(mmm}mrsooo 6,000, 8,000, 4,500 3T 6,000 # Fo FATEA AT T
M- MEr - A, B, C,DERE-F mm’{fX(SDa‘ﬁ‘;ﬂ'&@Eﬁ),Y(m-Soaﬁ'},Z(ma&
ﬁmﬁmaﬁrqﬁamaﬁaﬁm%

60

50

nl"hh
A B c D E

villages

e B 3l C # SFAfaa &9 @ 50 a9 & 3w 71y & sufeadl & §o Bear AT Sear mar A 20 &
50 9§ # 1Y AT cATFAET F For FEAT FT HAS T 87

Percentage
8 & &

B

Ans X 1. 49 : 57
X2 51: 59
X324 : 27
v 47 : 53

Question ID : 98958018075

Status : Not Answered

Chosen Option : --




Q5 uw Irg @1 AWE goT 3425 ¥ UF gFEEER 20% T o & ¥ AT f ol 16% amer o e B
mwsﬁﬁrmm%ﬂ

Ans X 1. 3605.75
X 2. 3624.50
V' 3616.25
X 4 3620.50

Question ID : 98958018057
Status : Answered
Chosen Option : 3

Q.6 wF g ABCD wF g7 & ¥iex & o & O &1 aify «BOC =92° 3fiw LADC = 112°, & £ABO
e T FI?

Ans o124
X2 26°
X322
X 4 28°

Question ID : 98958018068
Status : Answered
Chosen Option : 1

.7  The selling price of 24 articles is equal to the cost price of 26 articles. What is the gain percentage (correct to one
Zp q b gain p &
decimal place) in such a situation?

Ans 26

Question ID : 98958018059
Status : Answered
Chosen Option : 2

Q.8 ﬁ';’fsrasn—u#24%#qﬁ'£ |t'a?c HIF T F FI 14% T TEST B 5H =TT H
AR T I §AC @ 37T FF Bas 9T (GeeE F UF TUH g% T FH e

Ans Xr 7.9
X278
v': 8.1
X483

Question ID : 98958018058
Status : Answered
Chosen Option : 3




\

Q9 afy AABC # BC Wt fig D 50 =5 Yo Tug &, 5 BD : BC = 2 : 5, &1 &%a (AABD) : &%
(AADC) T 31 T §iem?

Ans X 1.4:9
<22:5
vsa2:3
<a1:2

Question ID : 98958018069
Status : Answered
Chosen Option : 3

Q.10 wx 37 &, AD 3t BC sfaT¢ 3ea & 91 fig E R Berhr &) 9y £BAE = 76°3 2ADC= 1027 |, &
£ AEC f5a% ®H = g m?

Ans X128
X224
v 26°
X 4 25°

Question ID : 98958018067
Status : Answered
Chosen Option : 3

Q.11 ﬁa:@—ﬁ%}ﬂ:{ﬂ=1 %: a;raz+b2—aab mmw

b a+ab+b?

Ans

. 29
i e
33

: 29
5 2.5
31
27
3. f,
31
27
4

X~ﬁ

Question ID : 98958018064
Status : Answered
Chosen Option: 3

12 (in236" + tan?60° + sec?30° + sin?54") S THT g7

Ans . 14
™ 1.EE

3

: L

= 25,

3

X35




Question ID : 98958018071
Status : Answered
Chosen Option : 4

Q.13 R ar Ty 3T (AW IMH) FE 5,000, 6,000, 8,000, 45603ﬁ?6000#mmmw

Ans

He -3 aat - A, B, C, D 3T E - ﬁmmg‘rX(so

¥ W), Y (207 50 a9), Z (20 T
T FE) N SATOEAT Y ST e ¥

60

S0

oi"hh
A 8 ¢ 0 £

Villages

Percentage
8 8 &

B

T B 3t C #F oAl w9 & 20 a¥ & &7 g aw caftadi B T, seel et S Fo s
F e wiee

: 190
R
7
184
5
. 186
K3 —

5

200

<2

Question ID : 98958018076
Status : Not Answered
Chosen Option : --

Q.14 AABC & ~ABC = 90" 3T BD | AC ¥ If& AD = 4 cm 3R CD = 5 cm, & BD f&a s ®AERT?

Ans

X 1342
V2 245
<3 345
X 4 445

Question ID : 98958018070
Status : Answered
Chosen Option : 2

Q.15




mmmm(mmmrsooo 6,000, 8,000, 45003ﬂ¢60003ﬁrmma13‘rw
HoET-HeleT aNat - A, B, C, D 3T E mmg’rX(so T Ho), Y (207 50 79), Z (20 &%
#mﬁm@rqﬁamaﬁmﬁwh

&0

50

u"'ih
A 8 c [ E

Villages

aits A 3l B & wiEAfea &9 @ 20 @ 50 9% ¥ g WE F cAeAl & For TEAT e 172
Ans of 14,100

< 2 4,000

#< 3 4,300

< 4 4,200

Percentage
B 8 &

o

Question ID : 98958018074
Status : Not Answered
Chosen Option : --

Q16 zfra+b+c=53ab+bc+ca= 4% 3 a®+b®+c®—3abc BoF ga= gem?
Ans X 1. 72

<2 62

< 3. 68

v+ 65

Question ID : 98958018065
Status : Answered
Chosen Option : 4

Q17 gfr 2sin26+3sinf—2=0 ,(0°< 6 <90° & a6 F AT FT M7
Ans x1~ 9{}“

X 2 45°

V'3 30°

x4 60°

Question ID : 98958018073
Status : Answered
Chosen Option : 3

Q18 20— [2.8x5+0.7—3+0.9x 1.5+ 2] & TIEFHT AT F4T ZT?
Ans  of 1.3

X238

X3 3.6

X434




Question ID : 98958018063
Status : Answered
Chosen Option: 1

Q.19 A B # C 3rFer 50 F10 31 F8T: 9, 12 3R AT T
Ry R, g 3 Rel & 91 A & F o¥s R A w1 fha Rl & qur gam?

Ans 11
v RN
4

K2

v
X 4

P Uo a2l Ln

Question ID : 98958018053
Status : Answered
Chosen Option : 3

Q20 5 cm faTt T IR O T gEY A, O & 5§ RO weS @ T gee swer F @2
Ans o1 450 em?

& 2. 500 em?

< 3. 475 cm?

< 4 600 cm?

Question ID : 98958018055
Status : Answered
Chosen Option: 1

Q21 far o & 75 x, v, z UTeRT SIEdTeE @A §, afy

(x+y)?2—22=8,(y+2)? —x>* =103 x+2)?—y>=7 &, & (x+y+2) &Es TAA FoM?
Ans Xl 6

<27

vi5

<48

Question ID : 98958018066

Status :

Chosen Option : --

. Not Attempted and
Marked For Review

Q.22 e zafEFa fRr g &7 40% T 60 km/h F aify & HR AW g @ 40 kmvh Fr AT F T Ha B
0T o F AT 5w kmih F sitee ol F@T Eeh 2

Ans 60[]
W e

13

600

X 2. feeen
11




500

> 3.

s 13

. 500
4 i

" 11

Question ID : 98958018054
Status : Answered
Chosen Option : 1

OB % tang = §= (0°< 8 < 90°) , & sinfcosd Torgs FATH M2

Ans 15
34
14

Question ID : 98958018072
Status : Answered
Chosen Option : 1

Q.24 24 dwamadt v site 65 &1 gger 11 eI & sitwa 67 § ak aifaw 10 dwmmdt @ e 70 1 @R
12*#@13;?@13ma,3m14ﬁm13ﬁm@wmﬁ,m1z*3ﬁr14ﬁm

= Fraa =

Ans X 1. 42
X2 36
X3 26
v 39

Question ID : 98958018056
Status : Answered
Chosen Option : 4

Q.25 5% 9fa 98 F T T A W2 7§ F [T Tgie =0 3N TR == & 233.80 F W &1 X F

T Fm g2

Ans  of 128,000
X 237,500
X 3 27,800
X 4 28,500

Question ID : 98958018061
Status : Not Answered
Chosen Option : --




Section : English Language

Q.1 Select the most appropriate antonym of the given word.

ROUTINE
Ans ( 1. different

x 2. regular
x 3. accepted

x 4. normal

Question ID : 98958017918
Status : Answered
Chosen Option: 1

Q.2 Select the correct passive form of the given sentence.

Everyone should obey traffic regulations.

Ans x 1. Traffic regulations will be obeyed by everyone.
x 2. Traffic regulations should be obey by everyone.

x 3. Traffic regulations are obeyed by everyone.

J 4. Traffic regulations should be obeyed by everyone.

Question ID : 98958017904
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

With each passing day he was going_in more trouble.
Ans ( 1. he was getting into

x 2. he were going to
x 3. he are getting in

x 4. No improvement

Question ID : 98958017907
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate option to fill in the blank.

The hotel room of odour of leftover food.

Ans X" 1. smoked

x 2. flavoured

J 3. reeked
x 4. traced

Question ID : 98958017927
Status : Marked For Review
Chosen Option : 3

Q.5 Select the most appropriate antonym of the given word.




CONCLUSIVE
Ans J 1. ambiguous

X 2. clear

x 3. undeniable

X 4. decisive

Question ID : 98958017919
Status : Answered
Chosen Option : 1

Q.6 Select the correctly spelt word.
Ans X" 1 acquasition

X 2. acquision
x 3. acquesition

( 4. acquisition

Question ID : 98958017925
Status : Answered
Chosen Option : 4

Q.7 In the sentence identify the segment which contains the grammatical error.

I will stop to refreshments at the next restaurant on the highway.
Ans X" 1. will stop

x 2. at the next restaurant
x 3. on the highway

J 4. to refreshments

Question ID : 98958017902
Status : Answered
Chosen Option : 4

Q.8 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. In fact, there are about 800 million mobile phone users now.

B. They have been in use in the country for over two decades.

C. Mobile companies are regularly bringing out phones with new features for these users.
D. There are billions of mobile phones in India today.

Ans  of 1 DBAC

/< 2.DCAB
75 3.ABCD
/< 4.ACBD

Question ID : 98958017915
Status : Answered
Chosen Option : 1

Q.9
Select the most appropriate meaning of the underlined idiom in the given sentence.

| am not thinking of the solution to this problem. | will cross the bridge when | come to it.

Ans J 1. deal with something only when necessary




X 2. let someone else deal with the problem
x 3. not deal with the problem at all

X 4. not even think about the problem

Status : Answered
Chosen Option : 1

Question ID : 98958017920

Q.10 Select the word which means the same as the group of words given.

People living at the same time
Ans X" 1. comrades

x 2. cosmopolitans

X 3. friends

J 4. contemporaries

Status : Answered
Chosen Option : 4

Question ID : 98958017922

Q.11 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. One population lives in the Bwindi National Park in Uganda.

B. Mountain gorillas are some of the most threatened animals on the planet.
C. Only two groups of mountain gorillas remain.

D. The other group lives in the Virunga Mountains.

Ans X" 1 BDCA

o 2.BcAD
#< 3.CDBA
/5 4.ABCD

Status : Answered
Chosen Option: 2

Question ID : 98958017914

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Rivers around the world are (1) with dangerous levels of antibiotics, (2) toa
recent study. Concentration of antibiotics in some waterways (3) safety levels by 300
times. Researchers looked at several (4) used antibiotics in rivers flowing (5) 72
countries.

SubQuestion No : 12

Q.12
Select the most appropriate option for blank No. 1

Ans & 1. fouled
J 2. contaminated
X 3. infected

X 4. tainted

Question ID : 98958017909

Status : Answered




l Chosen Option : 2 J

Q.13
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Rivers around the world are (1) with dangerous levels of antibiotics, (2) toa
recent study. Concentration of antibiotics in some waterways (3) safety levels by 300
times. Researchers looked at several (4) used antibiotics in rivers flowing (5) 72
countries.

SubQuestion No : 13
Select the most appropriate option for blank No. 2

« 1. according
x 2. consistent
X 3. conforming
x 4. reported

Question ID : 98958017910
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Rivers around the world are (1) with dangerous levels of antibiotics, (2) toa
recent study. Concentration of antibiotics in some waterways (3) safety levels by 300
times. Researchers looked at several (4) used antibiotics in rivers flowing (5) 72
countries.

SubQuestion No : 14

Q.14 Select the most appropriate option for blank No. 3
Ans ( 1. exceeds
x 2. outpaces
x 3. outgrows
x 4. excels
Question ID : 98958017911
Status : Answered
Chosen Option: 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Rivers around the world are (1) with dangerous levels of antibiotics, (2) toa
recent study. Concentration of antibiotics in some waterways (3) safety levels by 300
times. Researchers looked at several (4) used antibiotics in rivers flowing (5) 72
countries.
SubQuestion No : 15
Q.15 Select the most appropriate option for blank No. 4
Ans

75 1. badly
X 2. likely
« 3. commonly

X 4. unusually




Question ID : 98958017912
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Rivers around the world are (1) with dangerous levels of antibiotics, (2) toa
recent study. Concentration of antibiotics in some waterways (3) safety levels by 300
times. Researchers looked at several (4) used antibiotics in rivers flowing (5) 72
countries.

SubQuestion No : 16
Q.16 Select the most appropriate option for blank No. 5

Ans  of 1 through
X 2. below
25 3. with
/X 4. above

Question ID : 98958017913
Status : Answered
Chosen Option : 1

Q.17 In the sentence identify the segment which contains the grammatical error.

Our nation can make significant growth but if we all work collectively.
Ans X" 1. work collectively

o 2. butif we all
x 3. Our nation can

x 4. make significant growth

Question ID : 98958017903
Status : Answered
Chosen Option : 2

Q.18 Select the correctly spelt word.
Ans X" 1. counterfiet

x 2. countorfeit
J 3. counterfeit

X 4. counterfate

Question ID : 98958017924
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate synonym of the given word.

CLIMAX
Ans x 1. preface

X 2. epilogue
J 3. culmination

X 4. prologue




Question ID : 98958017917
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Women in traditional costumes welcoming a foreign dignitaries.

Ans x 1. welcome to foreign dignitaries
x 2. No improvement
J 3. welcomed the foreign dignitaries

x 4. welcomes the foreigner dignitaries

Question ID : 98958017906
Status : Answered
Chosen Option : 3

Q.21 Select the most appropriate meaning of the underlined idiom in the given sentence.

She has a good job and a happy family. She has best of both the worlds.
Ans X" 1. agood career

J 2. all the advantages
X 3. advantages and disadvantages

X 4. a contented family

Question ID : 98958017921
Status : Answered
Chosen Option : 2

Q.22 Select the correct indirect form of the given sentence.

The boss said to his employee, "l will be happy if you finish this project by evening.’

Ans x 1. The boss told his employee that he would be happy if he will finish this project by
evening.

x 2. The boss told his employee he will be happy if he finished this project by evening.

x 3. The boss told his employee that he would be happy if he finishes that project by
evening.

J 4. The boss told his employee that he would be happy if he finished that project by
evening.

Question ID : 98958017905
Status : Answered
Chosen Option : 4

Q.23 Select the word which means the same as the group of words given.

One who can use both hands efficiently
Ans J 1. ambidextrous

25 2. skillful
x 3. genius

x 4. ambivalent




Question ID : 98958017923
Status : Answered
Chosen Option : 1

Q.24 Select the most appropriate option to fill in the blank.

Ans

The crisis would

o 1. further
75 2. farther
x 3. either

#< 4. neither

damage their reputation.

Question ID : 98958017926
Status : Answered
Chosen Option : 1

Q.25 Select the most appropriate synonym of the given word.

Ans

MANUAL
x 1. thesaurus

J 2. handbook
x 3. directory
x 4. dictionary

Question ID : 98958017916
Status : Answered
Chosen Option : 2




